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NUMBER SYSTEM & NUMBER SERIES 
WORK SHEET  

 
BOOK SOURCE SPLIT UP  

 
TITLE STD NEW 

OLD 
TERM Exercise 

Number System  8 OLD 1 1.4 

9 OLD  2.5, 2.6 

9 NEW 2 2.1 to 2.4 

R.S.AGGARWAL  
(2020 Edition) 

Page No: 3-50, 877 - 883 

 
Squares : (1 to 10)    (11 to 20)  
   102 = 100       202 = 400 
 12 = 1 92 = 81   112 = 121     192 = 361 
 22 = 4 82 = 64   122 = 144   182 = 324 
 32 = 9 72 = 49   132 = 169   172 = 289 
 42 = 16 62 = 36   142 = 196   162 = 256 
 52 = 25     152 = 225    
 (21 – 30)  
 212 = 441   302 = 900 
 222 = 484    292 = 841 
 232 = 529   282 = 784 
 242 = 576   272 = 729 
 252 = 625   262 = 676 
 
Cubes : (1 to 15)  

13 = 1     83 = 512 
23 = 8     93 = 729 
33 = 27    103 = 1000 
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43 = 64    113 = 1331 
53 = 125    123 = 1728 
63 = 216     133 = 2197 
73 = 343     143 = 2744 

      153 = 3375 
 
Prime numbers (1 to 100) 
1 – 10   → 2, 3, 5, 7     → 4 
11 – 20   → 11, 13, 17, 19     → 4 
21 – 30  → 23, 29     → 2 
31 – 40  → 31, 37      → 2 
41 – 50   → 41, 43, 47    → 3 
51 – 60  → 53, 59     → 2 
61 – 70  → 61, 67     → 2 
71 – 80  → 71, 73, 79    → 3 
81 – 90  → 83, 89     → 2 
91 – 100  → 97      → 1 
 
Co prime numbers (or) relative prime numbers  
 
If the HCF of two numbers is 1 then the numbers are said to be co-primes 
(or) relatively prime.  
 
Twin prime numbers:  
  If there is present only one composite number between them.  
 
Phythagoren Triplet numbers:  
  Let a, b, c are three numbers a2 + b2 = c2 (is a highest number)  
above condition is satisfied, then, a, b, c are called phythagoren triplet 
numbers.  
 
Amicable numbers (or) (Friendly numbers)  
 
Consider the numbers 220 & 284  
Sum of the divisions of 220 (excluding 220)  
    = 1 + 2 + 4 + 5 + 10 + 11 + 20 + 22  
    + 44 + 55 + 110 = 284  
sum of the division of 284 (excluding 284)  
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  = 1 + 2 + 4 + 71 + 142 = 220 
Thus sum of divisors of one number excluding it self is the other. such 
pair of number called Amicable numbers (or) Friendly numbers.  
Kaprekar number:  
 
The represnstention of its square in that base can be split into two parts 
where the second part has digits, that add to the original numbers.  
 
rhh;gfh vz;fs;:  
  ,U vz;fspd; kP.ngh.t 1 vdpy; mt;ntz;fs; rhh;gfh 
vz;fshFk;.  
 
,ul;il gfh vz;fs;:  
 
,U gfh vz;fSf;F ,ilNa xU gF vz; ,Ue;jhy; me;j gfh vz;fs; 
,ul;ilg; gfh vz;fshFk;.  
 
gpjhfu]; %d;wd; njhFjp vz;fs;:  
 
gpjhfu]; Njw;wj;ij epiwT nra;Ak; vz;fs; gpjhfu]; %d;wd; njhFjp 
vz;fshFk;.  
 
,zq;F vz;fs; (or) el;G vz;fs;:  
 
,U vz;fspd; tFj;jpfspd; $Ljy; me;j vz;iz jtph;j;J kw;nwhU 
vz;iz khwp khwp jUk; vz;fs; ,zq;F vz;fs;.  
 
Nfg;hpfh; vz;fs;:  
 
 xU vz;zpd; th;f;fk; MdJ mtw;iw ,Ughfq;fshf gphpj;J tUk; 
vz;fspd; $LjYf;Fr; rkk; vdpy; mt;ntz;fs; Nfg;hpfh; vz;fshFk;.  
 
Divisibility Rules:  
    
Divisibility by 2:   (2 My; tFgl)  
 If an even number (,ul;il vz;)  
 
Divisibility by 3 :  
 If sum of the digits divided by 3  
 ,yf;fq;fspd; $Ljy; %d;why; tFgl Ntz;Lk;.  
 
Divisibility by 4 :  
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 If last two digits are divisible by 4.  
 filrp ,U ,yf;fq;fs; 4 My; tFgl Ntz;Lk;.  
 
Divisibility by 5:  
 If its last digit is either 0 (or) 5  
 filrp ,yf;fk; '0' my;yJ 5y; KbaNtz;Lk;.  
 
Divisibility by 6 :  
 If its divisible by 2 & 3 (,uz;L kw;Wk; %d;why; tFgl Ntz;Lk;) 
 
 
Divisibility by 7 :  
 Cross off last digit double it and subtract. Repeat the process. If new 
 number is divisible by 7, the original number is divided by 7.  
 filrp ,yf;fj;ij ,U klq;fhf;fp kPjKs;s vz;zpy; fopf;f  
 Ntz;Lk;. ,e;j nray; Kiwia kPz;Lk; kPz;Lk; nra;J me;j vz; 
 7 My; tFg;gl;lhy; KO vz;Zk; 7 My; tFgLk;.  
 
Divisibility by 8 :  
 If last 3 digits is divisible by 8. filrp %d;W ,yf;fq;fs; 8 My;  
 tFgl Ntz;Lk;.  
 
Divisibility by 9 :  
 If the sum of all the digits is divisible by 9.  midj;J ,yf;fq;fspd;  
 $Ljy; 9 My; tFgl Ntz;Lk;.  
 
Divisibility by 11:  

I. subtract the unit digit from the remaining number. If new number 
is divisible by 11 (or) new number is zero. The original numbers is 
divided by  

(or)  
II. sum of the odd digits is equall to the sum of the even digits.  

xw;iw ,yf;fj;ij kPjKs;s vz;zpypUe;J fopf;Fk; NghJ me;j 
vz; 11 My; tFgLk; vz;zhfNth my;yJ G+[;[pak; te;jhNyh> 
cz;ikahd vz; MdJ 11 My; tFgLk;.  

 
Divisibility by 13:  
Add 4 times the last digit to the remaining truncated number Repeat the 
step as necessary. If the result is divisible by 13 the original number is 
 also divisible by 13 same process for 17 & 19.  
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17 – subtract 5 times the last digit from remaining truncated number.  
19 – Add 2 times the last digit from remaining truncated number  
 
13 My; tFgl:  
filrp ,yf;fj;jpd; 4 klq;fpy; ,Ue;J kPjKs;s vz;izf; $l;l 
Ntz;Lk;. ,e;j nray;Kiwia 13 My; me;j vz; tFgLk; njhlu 
Ntz;Lk;. ekJ tpil 13 My; tFg;gl;lhy; me;j KO vz;Zk; 13 My; 
tFgLk;.  
 
,NjNghy nray;Kiwjhd; 17 kw;Wk; 19 f;Fk;.  
 
17 – filrp ,yf;fj;ij 5 klq;fhf;fp kPjKs;s vz;zpy; ,Ue;J fopf;f 
Ntz;Lk;.  
 
19 – filrp ,yf;fj;ij ,U klq;fhf;fp kPjKs;s vz;Zld; $l;l 
Ntz;Lk;.  
 
,e;j nray;Kiwia me;j vz; tFgLk; tiu KO vz;zpYk; njhlu 
Ntz;Lk;.  

 
Natural Numbers:  
 A natural number is an Integer greater than 0. Natural numbers 
begin 1 and increment to infinity: 1, 2, 3, 4, 5 ........ etc. These numbers also 
called counting numbers.  
 
Whole Numbers:  
If zero is included in the collection of Natural numbers (N) we get the 
collection of whole Numbers (W), W = {0, 1, 2....}  
0 is the smallest whole number  
 
Integers:  
 Integers are a collection of Natural numbers, Zero and negative 

numbers.  
 

Rational Numbers:  
 A number that canbe in the form a/b, Where a and b are integers and 

bo is called a rational number.  
 
Irrational Numbers:  
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 An irrational number is a non-terminating and non-recuring decimal, 

i.e. it cannot be written in form p

q
, where p and q are both integers 

and q  0.  
 

NUMBER SYSTEM & NUMBER SERIES 
 

1. The missing term of the following sequence is 4, 5, ? 40, 104, 229, 
fPNoAs;s njhlh; thpirapy; tpLgl;l vz;zhdJ 4, 5, ?, 40, 104, 229, 
a. 6  b. 13  c. 14  d. 22 

 
2. What would be the next term of the sequence 2, 5, 9, 19, 37, ? 

gpd;tUk; njhlhpy; mLj;J tUk; cWg;G vJ 2, 5, 9, 19, 37, ? 
a. 67   b. 76   c. 75   d. 87 

 
3. Given below are two series with specific pattern What will come in the 

plate of (e)? 
fPNo nfhLf;fg;gl;Ls;s> Fwpg;gpl;l cj;jpfSld; $ba ,U njhlh;fspy;> 
(e)-d; kjpg;G fhz;f. 
a. 173   b. 153   c. 171  d. 151 

7 13 29 53 113 217 
5 a. b. c. d. (e) 

 
4. Insert the missing number. 

fPNoAs;s njhlh; thpirapy; tpLgl;l vz;zhdJ 
2, 6, 12, 20, 30, 42, 56 ________. 
a. 62  b. 72  c. 64  d. 68 

 
5. Find the missing number 

fPNoAs;s njhlh; thpirapy; tpLgl;l vz;zhdJ 
1, 3, 3, 6, 7, 9, ?, 12, 21 
a. 10  b. 11  c. 12  d. 13 

 
6. How can we called the following sequence? 

1, 1, 2, 3, 5, 8, 13, 21, 34…. 
a. Ficconabi sequence   b. Finocabci sequence 
c. Fibonacci sequence   d. Finabocci sequence 
vd;w njhlh; thpiria gpd;tUtdtw;Ws; vt;thW miof;fyhk;? 
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a. gpNfhdhgp njhlh;thpir  b. gpNdhfhg;rp njhlh;thpir 
c. gpNghdhfp njhlh;thpir  d. gpdhNghfp njhlh;thpir 

 
7. Two series are given below with specific pattern. 

What will come in the place of (e)? 
fPNO nfhLf;fg;gl;l Fwpg;gpl;l cj;jpfSld; $ba ,U njhlh;fspy; (e) 
–d; kjpg;G fhz;f. 

6 18 36 108 216 648 
2 (a) (b) (c) (d) (e) 

a. 482  b. 344  c. 216  d. 420 
 

WRONG NUMBERS SERIES: 
 

8. Find the wrong number in the series. 
nfhLf;fg;gl;l njhlhpy; mike;j jtwhd vz;izf; fhz;f. 
2, 9, 28, 65, 126, 216, 344 

a. 2   b. 28   c. 65   d. 216 

 
9. Find the wrong number in the series. 

nfhLf;fg;gl;l njhlhpy; mike;j jtwhd vz;izf; fhz;f. 
10, 14, 28, 32, 64, 68, 132 
a. 32  b. 132  c. 14   d. 6 
 

10. Find out the odd number in the series given 25, 36, 49, 81, 121, 169, 225 
gpd;tUk; vz;fs; njhlh;thpirapy; nghUe;jhj vz;izf; fhz;f. 
25, 36, 49, 81, 121, 169, 225 
a. 36  b. 49   c. 169  d. 225 
 

Level – I  
 

11. Which of the following is a prime number? 
fPo;f;fz;ltw;wpy; vJ gfh vz;? 
a. 241  b. 338  c. 391  d.  575 
 

12. Sum of three consecutive integers is 45, find the integers 
mLj;jLj;J tUk; %d;W KOf;fspd; $Ljy; 45 vdpy; me;j  
KOf;fisf; fhz;f.  
a. 15,16,17  b. 14,15,16   c. 13,14,15  d. 16,17,18 
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13. Find the number of prime factor of 1024  
1024 d; gfhf;fhuzpfspd; vz;zpf;if 
a. 9   b. 10   c. 11   d. 12  

 
14. How many prime numbers between 50 to 100.  

50 f;Fk; 100 f;Fk; ,ilNa mike;Js;s gfh vz;fspd; vz;zpf;if 
a. 13   b. 9   c. 8   d. 10  

 
15. Find the number which when multiplied by 15 is increased by 196?  

xU vz; 15-y; ngUf;fg;gLk; nghOJ 196 mjpfkhfpwJ vdpy; me;j 
vz;izf; fhz;f. 
a. 14   b. 20  c. 26   d. 28 
 

16. (v – a) (v – b) (v – c) (v – d) ........ (v – z) =  
a. v2 – v (a+b) + ab   b. v – v2 (a+b) + ab  
c. 1     d. 0 
 

17. Along a yard 225 meters long, 26 trees are planted at equal distance, 
one tree being at each end of the yard. What is the distance between 
two consecutive trees? 
225 kP ePsKs;s xU Kw;wj;jpd; njhlf;fj;jpy; ,Ue;J ,Wjptiu 26 
kuq;fs; rknjhiytpy; mike;Js;sd vdpy; xt;nthU kuj;jpw;Fk; 
,ilNa cs;s J}uk; vt;tsT?  
a. 8 metres  b. 9 metres  c. 10 metres d. 15 metres 
 

18.  The product of two consecutive numbers is 4032. Find the numbers 
,uz;L mLj;jLj;j vz;fspd; ngUf;fy; 4032 vdpy; me;j vz;fis 
fhz;f. 
a. 61, 62   b. 64, 65  c. 63, 64   d. 62, 63 

Level II  
 

19. The students of a class donated ` 4624 for Chief Minister’s State Relief 
Fund. Each student donated as many rupees as the number of students 
in the class. Find the number of students in the class. 
xU tFg;gpy; cs;s khzth;fs; &. 4624-ia Kjyikr;rhpd; khepy 
epthuz epjpahf nrYj;jpdh;. xt;nthU khztUk; jdJ gq;fhf jdJ 
tFg;gpy; cs;s khzth;fspd; vz;zpf;iff;F rkkhd njhifia 
nfhLj;jdh; vdpy; tFg;gpy; cs;s khzth;fs; vj;jid Ngh;? 
a. 64   b. 68   c. 62   d. 78 
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20. Mangalam buys a water jug of capacity 
4

3
5

  litre. If she another Jug 

which is 
2

2
3

  times as large as the smaller jug, how many litre one hold?  

kq;fsk; 
4

3
5
 ypl;lh; nfhs;ssT nfhz;l xU jz;zPh;f; FLitAk;> 

mijg; Nghd;W 
2

2
3

  klq;F mjpf nfhs;ssT nfhz;l kw;nwhU jz;zPH 

FLitAk; thq;Ffpwhs; vdpy;> nghpa FLit vt;tsT ypl;lh; 
jz;zPiuf; nfhs;Sk;?  

a. 
4

10
15

l  b. 
3

10
15

l  c. 
2

10
15

 l  d. 
7

10
15

 l 

 
21. In an examination, a students scores 4 marks for every correct answer 

and loses 1 mark for every wrong answer. If he attempts in all 60 
questions and secures 130 marks, the number of questions he attempts 
correctly, is:  
xU Njh;tpy; xU khztd; xt;nthU rhpahd tpilf;Fk; 4 kjpg;ngz;fs; 
ngWfpwhh;. xt;nthU jtwhd tpilf;Fk; 1 kjpg;ngz; Fiwf;fg;gLfpwJ. 
60 Nfs;tpf;F tpilaspg;gjd; %yk; mth; 130 kjpg;ngz;fs; ngw;whh; 
vdpy; mth; rhpahf tpilaspj;j tpdhf;fspd; vz;zpf;if?  
a. 35   b. 38   c. 40   d. 42  
 

22. A man earns Rs. 20 on the first day and spends Rs. 15 on the next day. 
He again earns Rs. 20 on the third day and spends Rs. 15 on the fourth 
day. if he continues to save like this, how soon will he have Rs.60 in 
hand? 
xU kdpjd; Kjy; ehspy; & 20 <l;Lfpwhh;. mLj;j ehs; & 15 I 
nrytopf;fpwhh;. %d;whtJ ehspy; & 20 <l;Lfpwhh;. ehd;fhtJ ehspy; & 
15 nrytopf;fpwhh;. ,Nj khjphp njhlh;e;jhy;> vj;jidahtJ ehspy; 
mtuJ ifapy; & 60 kl;Lk; ,Uf;Fk;?  
a. on 17th day  b. on 27th day c. on 30th day d. on 40th day 
 

Level III  
 

23. 
1 1 1 1

.........
1 2 2 3 3 4 99 100

  
   

 

a. 
98

99
   b. 

100

99
  c. 

99

100
  d. 

100

101
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24. Find the sum: 
1 1 1 1 1

2 6 12 20 30
     

1 1 1 1 1 1

42 56 72 90 110 132
       

$Ljy; fhz;: 
1 1 1 1 1

2 6 12 20 30
     

1 1 1 1 1 1

42 56 72 90 110 132
       

a. 
7

8
  b. 

11

12
   c. 

15

16
   d. 

17

18   
 

25. Kavi and kural each had a number of apples Kavi said to Kural "If you 
give me 4 of your apples my number will be thrice yours'. Kural replied 
"If you give me 26, my number will be twice yours. How many did each 
have with them?  
ftpaplKk;> FwsplKk; Mg;gps; goq;fs; cs;sd. 'eP vdf;F 4 
goq;fisj; je;jhy;> vd;dplk; cs;s goq;fspd; vz;zpf;if cd;dplk; 
cs;sijg; Nghy %d;W klq;F vd ftp Fwsplk; $wpdhh;. 'eP vdf;F 
26 goq;fisj; je;jhy; vd;dplk; cs;s goq;fspd; vz;zpf;if> 
cd;dplk; cs;sijg;Nghy ,U klq;fhFk;"> vd Fws; gjpyspj;jhhh;. 
vdpy; xt;nthUthplKk; cs;s goq;fspd; vz;zpf;if vt;tsT?  
a. 40, 12  b. 36, 36  c. 50, 22  d. 57, 15 
 

26. A The sum of a number and its reciprocal is 
37

6
. Find the numbers. 

Xh; vz; kw;Wk; mjd; jiyfPopapd; $Ljy; 
37

6
 vdpy; mt;ntz;fs; 

ahit?  

a. 5, 1

5
  b. 6, -6  c. 6, 1

6
   d.  5, - 1

5  
 Solution:

 
  Let the number be x then and its reciprocal is 

1

x
 

     
1 37

6
x

x
   

          
2 1 37

6

x

x


  

           6x2 + 6 = 37x 
            6x2 - 37x + 6 = 0 

           
2 4

2

b b ac
x

a

  
  

 
2

( 37) 37 4.6.6

2.6

    
  

37 35

12


  
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37 35 72

6
12 12

x


    

         
37 35 2 1

12 12 6
x


    

 The numbers be 6, 
1

6
 

 

27. If one fifth of one third of one fourth of a number is 2 then the number 
is 
Xh; vz;zpd; Ie;jpy; xU gq;fpd; %d;wpy; xU gq;fpd; ehd;fpy; xU    

  gq;F 2 vdpy; mt;ntz; 
a. 50   b. 60   c. 100          d. 120 

   Solution: 

  
1 1 1

2
5 3 4

x     

             2 4 3 5x      
            x = 120 
 

28. In a two digit number, the digit in the unit place is twice of the digit in 
the tenth place. If the digits are reversed, the new number is 27 more 
than the given number. find the number 
Xh; <hpyf;f vz;zpy;> xd;whk; ,l ,yf;f vz;> gj;jhk; ,l ,yf;f 
vz;izg;Nghy; ,U klq;fhf cs;sJ. ,yf;fq;fs; ,lk; khwpdhy; 
fpilf;Fk; Gjpa vz; nfhLf;fg;gl;l vz;iztpl 27 mjpfk; vdpy; 
nfhLf;fg;gl;l <hpyf;f vz;izf; fz;Lgpbf;f.  
a. 63   b. 36   c. 93   d. 39 

     Solution: 
  Original number  = (10y + x) 
  Reversed number = (10x + y) 
 (10x + y) - (10y + x) = 27 
    9x – 9y = 27 

             x – y = 
27

9
 

        x – y = 3 
 We know that, x = 2y 
          2y – y = 3 
         y = 3 and x = 6 
     10y + x = 10   3 + 6 = 36  
 

file://Backoffice1/JPC120
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29. In an examination, a student was asked to find 
3

14
 of a certain number. 

By mistake, he found 
3

4
of that number. His answer was 150 more than 

the correct answer. The number is: 

Njh;tpy; xU khztd; xU vz;iz 3
14

 My; ngUf;Ftjw;Fg; gjpyhf 

3
4

 My; ngUf;fpdhy; fpilf;Fk; tpilahdJ> rhpahd tpilia tpl 150 

mjpfnkdpy;> me;j vz; vd;d?  
a. 180   b. 240  c. 280  d. 290 
Solution: 

  Let the required number be x 
  So, as per the question, 

   
3 3

150
4 14

x x
   

       
21 6

150
28

x x
  

          
150 28

280
15

x


 
 

 

30. The sum of the first 99 terms of the series 
3 5 7 9

...........
4 36 144 400
     

njhlhpy; Kjy; 99 cWg;Gfspd; $Ljy; fhz;f. 
3 5 7 9

...........
4 36 144 400
     

a. 
99

100
  b. 

999

1000
  c. 

9999

10000
  d. 1 

     Solution: 

  
2 2

2 2

3 2 1

4 2 .1


  

  
2 2

2 2

5 3 2

36 3 .2


  

 
2 2 2 2 2 2 2 2 2 2 2 2

2 2 2 2 2 2 2 2 2 2 2 2

2 1 3 2 4 3 5 4 99 98 100 99
...

2 .1 3 .2 4 .3 5 .4 99 .98 100 .99
S

     
        

           
2 2 2 2 2 2 2 2

2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2

2 1 3 2 99 98 100 99
...

2 .1 2 .1 3 .2 3 .2 99 .98 99 .98 100 .99 100 .99
          

          
2 2 2 2 2 2 2 2 2

1 1 1 1 1 1 1 1 1 1
...

1 2 2 3 3 4 98 99 99 100
            

          S = 
1

1 2

1

100
  

10000 1

10000


  

9999

10000
  
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NUMBER SYSTEM & NUMBER SERIES 

WORK SHEET  
 

1 2 3 4 5 6 7 8 9 10 

B C B B D C C D B A 

11 12 13 14 15 16 17 18 19 20 

A B B D A D B C B C 

21 22 23 24 25 26 27 28 29 30 

B A C B C C D B C C 

 
 

 


